1% BT TR 1T, Hass] URIET - 20 4

’ h.u_{._ o TYTUAehT TS
BOOKLET NO.

TegfeTenT- 11 TFHOT U9 : 100

¥%: 1 (TH) W T {1, g 9 faware 3 TEHT T : 100

A=A
(1) TR YTTIfEHd 100 Sfar 999 ea. IeTARHl T T fofevara Feend el 31 geyied ad

T S =], S
(2) SIS THET-THi &l Alehraid ~ . 4‘3@
7 farerar stou fegEn EEEUGESI

(3) T BUTH TR FHish qreal Soruira fafire srft swufenaie gy 7 fauwar 748 waar.
@) (&) 9 IHAYfEThdie Io ol 4 T S guiasl 789 @1 1, 2, 3 300 4 378 FwHiw o0 AR, @
WTRTAT Ta hieodl TITEe Ao STaare, Ufeqes ar I U aus 4.
(%) T vy faararet gaEt sRier 3ol urean fafea shese 3e. I faaaren vt Wy auEt siE)
GIERRRER
(5) O TYAIAT HHAE W AR, AWRTE 96 FYHiE 39 AT, WIS TRl SIUTR AT id AT ST Uy feen
M Yy HISarad. HAH YT WSO STt AT 70 TErey U9 SelUT STecdTd Eral 9 T atadl gE e
T HEEH 3,
(6) U AT Uhal TTHS hoves IO WIS YR A1E1, TG Foks ST Wi T I foeamd o Tumies STom ).
(7) WA UiaTe ST S YedTeh 1 S TaTT IREaHT=AT SUiAsh a1 AT SA s 0T fae wdie.
TG IATAN TS TguAidt e YA feoedn 9R SaiTie! Gald ard ST STt d
T HIA. AT T ITAAhA WSO Taieh o Pt IuUHIa! THT F9Tel 10T &=

r arehis
T YSAulIehaTel A fafss ot 9@ wuuda & yeRufast arm Tonar S ot
QUL ENd SHTATST THRHIET dTIuaTd qUald Id 8. & d¢ §uudd Hel gyayiachst
ga/ydat, f&ar war veufas die STE oY RITEE WwRUTe yeasl a1 Sy sTaul
ST SeRite qIfarol, TH= WRAg 0T 71 TR oA el el worn setay e
TR FHeET Cuiamed g YR T AT iday smivgraradar fatae-82 " G e
LA 99 THion SIUTe aae TN FEE SI0ad 956 9 26 el HA0 T
THISAT HRTATETET 31Ut/ féaT %Ud v e Tehvsan Ssr=a oy ue BEe
THE T WA ATsT fafed ot d Guuanenst @ yyiEeT SHfuehduul el & qgT
TR A TH FHIOMT SHF FERT FHANGETIFT, THA T Udagiehagerient T8
: Eﬁmwﬁﬁmmmmmﬁaawwmmmﬁa '
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1. e faum anm 9 v e w
(a) FIER (wifi) GIET IR FTSR e Yo WA T SIS Tees Ted T AL,

(b)  WERI Gl T T FeE et Hiwd A,

it 3T
(1) R (a) (2) R (b)
(3)  (a) 3 (b) T (4) ot T T

Consider the following statements and select the correct answer from the codes given
below :

(a) Bangalore City Railway station becomes the first railway station in the country to
have the (wifi) facilities.

(b} The passengers get the facility free of charge for a period of one hour.
Answer options :
(1) Only (a) (2} Only (b)

(3) Both (a) and (b) (4) None of these

2, B R TSHIHE! AT WA fohdt  STTvETST (qE-TreiiE Wiedl) R ?
(1) 3T@I& (2) 8o (3) 139@ (4) 18 oM@

How many ‘Aanganwadis’ (Pre-primary schools) are there in our country for 8 crore
children ?

(1) above 3 lac (2} 8 lac (3) 13 lac 4y 18 lac

THeeAT WIS AE /SPACE FOR ROUGH WORK
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3. TIfEdE UHN ATSEA 0N HRAGS Ufee 159 HI0d 3718 ?
(1) e (2) dfyem @S (3) &g W (1) TO@THR AT
Which is the first state in India, to make right to information online ?
(1) Gujarat (2)  West Bengal

(3) Andhra Pradesh (4) None of the above

4, YEie faum aE 9 et fae s

(a) TR AT WA 7 R S WS T RUE YA SgHiEdgy 99 awg hig

TERTATE S AT,
(b) WdE <sHiE, 1860 THI® 0T 309 Y TR0 YACTd Al Sioedl Sadiel Th
T I
(1) 9% (a) (2) H9F (b) (3) TR (4) IR

Consider the following statements and select the correct answer from the codes given
below :

(a) The Government has decided to decriminalise the ‘attempt to suicide’ by scrapping
it from the Indian Penal Code (IPC).

(b)  Section 309 of the IPC, 1860, prescribes one year imprisonment and a fine if a person
is found guilty of attempting a suicide.

Answer options :

(1) Only (a) {2)  Only (b) {3} Both (4)  Neither

el ShTHTETS! JTN /SPACE FOR ROUGH WORK
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5. ‘Ul @ fau A aed Grewtsl Siud faue/ faue sie mEe? o

(a) TIited WEHS Fiol FIoH A [T HEm I5H 6o .

(b) € @ 1 Ufe 2015 THT SR HAGAEST S° (Labour) HAGAT®HS g A
A

(c) 1 demsTaid AEHfed S HIHTGH W& &S .

(d) =fH® ¥ 50,000 =1 FUOH R T2 GET YEA O I,

it I

1) (@, (b 2 © 3) (© @ 4 (), ()

Which of the following statements is/are not correct about the ‘Rashtriya Swasthya Bima
Yojana” ?

(a)- Provides cashless health insurance cover to BPL people.

(b)  This scheme has been transferred from the Health Ministry to the Labour Ministry
from April 1, 2015.

(¢) Workers in the unorganised sector are covered under this scheme.
(d) Provides cashless health insurance cover of I 50,000 per annum.

Answer options :

1 (2, b 2 (o 3 (@ (d 4 () (d)

6. Y& faum argd arg e fas &4
(a) AT WO HEAIOE HAGHTH Hadl HROM T € 1fed Ty TR,
(b) TSI 3.9t FIESHHAT TR i Oy geen srfafram (gest) favas, 2009 o Hadt

feat o
TafEr I
(1) () (2) ®H (b)
(3)  (a) 3mfor (b) S (4) Fotw! wHE T
g;r;i\i’d:er the following statements and select the correct answer from the codes given

(a) Gujarat became the First state to make voting compulsory in local bodies.

(b) Governor O.FP. Kohli has given his sanction by signing the Gujarat Local Authorities
Laws (Amendment) Bill, 2009.

Answer options :
(1) Only {(a) (2)  Only (b) (3) Both (a) and (b) (4) None of these

el HIMEIS! WA /SPACE FOR ROUGH WORK
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L & B - 2015° A G R/ e/ e e T ?
(a) THEFS FoTh & FE ° ° aes HY MW foww sefor swr @

(b) wEH WHEH @ qAGS Tl S Hi € Ie€ HY AT QAT FuE I HIO qiee

(c) acE %Y Nwvar Gorg 799 Teas BUH & §eWIT AHoe! S0 o § THAg e
L

(d) W BRI TSt garad @G, (Man of the Tournament) %Y Tifd Hva[ 1.

it I
1 () (2) (@) (b)
@) (© @ 4) () ()

Which of the following statements regarding ICC World Cup - 2015 is/are not correct ?
(a) Michael Clarke became the third Australian Captain to win ICC World Cup.

(b) Brendom Mecullum became the First Captain of New-Zealand to lead his team in
the ICC World Cup final.

(¢} Darren Lehman is the only man to have won the World Cup both as a player and as
a coach.

(d) James Faulkner was declared the Man of the Tournament.
Answer options :
1 @ (2 (@) (k)

B (© () 4) (@ (@)

oA HIWEST WA /SPACE FOR ROUGH WORK
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8. 12 1M 2015 Asft foeft T Fag qumon ST woed RrerEtarsEd g faur faeme

(a) SHEANE UHTE HaeRHH( Fereu® Safavardl qaier wovl.
(b) T FaT=d TR 9 2 S Hafeq agais TE fag 7@ (collegium) HATHd FHey

ElEi
(c) TaaF (A9E) INgariT FFSu® TefavaE daf Ao .
it 397

(1) T4 (a), (b) A, () THT.

(2) fagr (b), () SR, (a) TR,

(3) ¥ faum sdEL

4) 9 faum gL

Consider the following statements regarding the recommendations made by the Law
Commission on March 12, 2015 on electoral reforms :

{a) Restrict a candidate to contest from one constituency.

(b) Appoint the Chief Election Commissioner and two other Election Commissioners
through a collegium.

(c) Ban independents from contesting polis.
Answer options :

(1) Statements (a), (b) are correct, (c} is false.
(2) Statements (b), (c) are correct, (a) is false.
(3) All the statements are correct.

(4)  All the statements are false.

9. Yo faum e dra gamEt e w5
(a) ST S faEREiTs ghoed WETd! fgoH! THE = a1 TREHRT Ao e
T 1985 Favlt wafa Ui S,
(b) SIS Tdedl HHIRA AdFTRS 91 FaSvHia IHE 91 61% 7d TSa.
i 3=

(1) ™ (a) (2) W (b} (3) (a) S0 (b) BT (4) wI=IE AR
Consider the following statements and select the correct answer from the codes given
below :

(a) Brazil’s left-leaning President Dilma Rousseff was re-elected in the most hotly
contested election held since 1985.

(b)  Ms. Rousseff, the first woman President of the World’s seventh largest economy,
won 61% of the votes.

Answer options :

(1)  Only {(a) (2)  Only (b) (3) Both {a) and (b) (4) Neither

HoeAT RITETS! ST /SPACE FOR ROUGH WORK
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10. wa= =mEET FeErea{an vER gey 9 S fow 3 fovmim 1R <ewm uey el

IATE, T Aol HU 98 o1 I et ?
(a) HIFSYRGY A Tedl-TeAt 7S TES.
(b) @ HAR T T WA FE .

(c) o T HUd IRESR LS.

T FIO/FoT faum SOew 27ed 2

el I

(1) 9 (a) (2) &S (b) AW (c)
(3) @ (a) I () @ (a) (b) 3 (0)

As per the judgement of Supreme Court, if a man and a woman stay together in ‘Live-in
Relationship” for a long period, what special benefits a woman is entitled to get ?

(a) Legally they are considered husband and wife.
(b) The woman will receive status of a legal wife.

(c) The woman would be an heiress to the property.
Which of the statements given above is/are correct ?

Answer options :

(1) (a) only {2) (b) and (c) only
(3) (a) and (c) only 4)  (a), (b) and (c)
11. ifesw gl &

0, 2, 24, 252,

(1) 3120 (2y 504 (3) 628
Complete the series.
0,224,252, _ ?
(1) 3120 (2) 504 (3) 628

4) 4253

(4) 4253

ToeAT HIMETS AT /SPACE FOR ROUGH WORK
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B
Using this information select the most appropriate image from the given options for the

empty place.

Answer opt

VAT

ions :

¥,

el HIHTETS! AT /SPACE FOR ROUGH WORK
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13.

10 A
feoiean Wifesd %ol T R & I FEN=AT TEIHIA TS LS N THAT Saiwsd a0
R ?

ETHKWDSBUMCXJANRVOYILPZGOQF

(1) B 2 D ) S 4 w

Starting from your left if positions of letters of every alternative pair of letters are
interchanged in the following sequence which letter will be seventh to the left of the letter
which is thirteenth from your right in new the sequence ?

ETHKWDSBUMCXJANRVOYILPZGQF

(1) B 2 D (3) S 4y W

14.

Wl for ST & A ey dimet W Al g Aed. Ff it simet sEE ? e, Fiae et
94 4 S FEi0 AR, o w7 g on, < snftn fre @i wE-adie sa. wend)
ST TG AH o WS YA W1, TR 0 Ay F A= 4O oea. Fiwdt I, w7 St
Al e a1 god Jfevll oed.  ffaed ayE 1 w1 o ?

(1) @ (2) TETHM (3) dod vEg (4) TR

Swati and Aman are children of Mr. and Mrs. Das, Mr. and Mrs. Dias are parents of
Geeta, Nikhil and Sanay. Mr. and Mrs. Mane are parents of Rani, Deep and Nitya. Swati
and Sanay are married to each other and have three children Rati, Gatee and Madhu.
Mrs. Das, Mrs. Mane and Mrs. Dias are cousins. How is Nikhil related to Madhu ?

(1) Maternal uncle (2) Distant maternal uncle

(3) Cousin {4) Paternal uncle

THoAT HIATETE! WRT /SPACE FOR ROUGH WORK
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15. F, H,J, K 300 N @1 99 faeneat=n & &= R,
«  Honfor o @ oI S .
+  F37for | 7o & gfagrer=n sare #dm.
«  Hafor K3 Aefifaam o spieran S i
o KT N ¥ Tifaart 3 Stafaqmren S FHd.
« N7 Siafaam, sfagr snfor Afasmn S w46

TR, S S0 Siafas giar AR H0 H:3al 7
(1) N 2y K 3 I (4) H

There is a group of five students F, H, ], K and N.

*

H and J are studying maths and geography.

*  F and ] are studying maths and history.

. H and K are studying psychology and geography.
*  Koand N are studying psychology and biology.

. N is studying biology, history and psychology.
Who studies psychology, geography and biology ?

(1) N 2) K 3 ] 4) H

HEAT HIHMEIS! A /SPACE FOR ROUGH WORK

P.T.O.



(1) O {e) (2} HF (b)
(3) IR WAAT LI HaTHa At (4) §& YoM WER Hafya oTed
Select odd image.

L TR
%f%ﬁ@@

Answer options :
(1) Only (e) (2) Only (b)
(3) None of the images are interrelated (4) All images are interrelated

17. WE o9 ST AT B E GUEG 9 1599 @4, ST A, BIC & U0 99 20 99 IR, graed
EEEHR C 9 99 fwdl 8w ?
1) 2094 2) 3094 (3) 40 = (4) 5034

Five years ago, the average age of A and B was 15 years. Now the average age of A, B and
Cis 20 years. What would be the age of C after 10 years ?

{1) 20 years (2) 30 years (3) 40 years {(4) 50 years

FHeeAl HTHTETE AT /SPACE FOR ROUGH WORK
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18. wgfavwm A=A Aedtem wiadee Ui @mest ARl § e aider gead $aE. 91 9iEaa
wiaey o SR, WS TG WiaTHIE S Tael Tel. It TEu Sees RIvel a9
AITETE SedTd SYET 300 AT gAT <91 94 THet 9l qB SOw! ulfedl SIS AR FRY
amared wfaye a1 fosrdte gfades Tt snftr At sl syfiesr ifvem T T,

eI BT FAMI/ ST Se Alfgd! Tewes 3d TG ?

(a) wiaet effarg Bromy ST aruT Heq T TaR Svarel SIOTd 3t § A1 WG
Tefid e e

(b) I WA HEd Toed GIR REw! Yiaay Fom=n Yot ASTE § I s et gEerd
FA § A A WwF T B w1 w99 AR § 9 oS Ak

(c) T WYTe, Ugd Cod mEal Waay wumal yiaiys Uei w1 w0 digear o
AT ? Ue AUES GEET B 8 SIS .

(d) Hied e gvare Fiaay Hm Oe s € dger Frfiat wm % om Jeffaga

qTRS .
it 39T
(1) (a) 3 (o) (2) (o) 3 (d) (3) ®Hd (d) (4) % (b)

In Alzheimer’s immune cells that normally protect brain instead begin to consume vital
nutrient called arginine. By blocking this process with drug, the researchers were able to
prevent the formation of plaques in the brain that is characteristic of Alzheimer’s condition.
This halted memory loss in mice. No technique that is tested in animals can be guaranteed
to work the same in human; the findings are encouraging because, until now, the exact
role of the immune system and arginine in Alzheimer’s was completely unknown.

Which of the following conclusion is/are not supported by the above information ?

(a) Through this research it is established that the consumption of arginine by immune
cells leads to formation of plaques in brain.

(b) This research has discovered the fact that cells that prevent formation of plaques in
the brain, start consuming nutrient called arginine and this prevents them from
functioning as immune cells.

(c) Through this research it is discovered that cells that prevent formation of plaques,
stop functioning and start consuming nutrient arginine.

(d) Nutrient arginine that prevents formation of plaques in the brain is consumed by
immune cells that help the brain to function normally.

Answer options :
(1) (a) and () (2) () and (d) (3)  Only (d) (4)  Only (b)

oAl RIMTHIET AT /SPACE FOR ROUGH WORK
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19. 9 fa=r=n fsmmn wivd S FHe ?

ME | 11 | 16 | HT

RX 23 18 SM

KM ?‘? PV

(1) 18, 24 (2) 14,21 (3) 12,18 (4) 56, 84
Which pair will replace the question marks ?

(*ME it | 16 | b

RX | 23 18[5M
|

KM | 2 ?'PV

(1) 18,24 ) 14,21 G) 12,18 (4) 56, 84

20. T2 O faum @ ard 9 =R 9 9y @ %57 991 F90 IR u GO A, adeTE
faum swee 99 Mael
(a) U BEGS TR .
(b) IR RN TS HH GG L
(c) el HU3I VF BrEES AR
(d) IEl FY I RN AR
() FTEI FU B TRIR ITRA.
() &= @ E TR ST
gt sat :
1)y (), (), (d) (2} (a), (d) (e) Gy @ (o), (@) (4} (a) (@) (o)

Below are given six statements followed by four sets of combination of three. Choose the
set in which the statements are logically related ?

(a) All those who take bribe are criminals.

{b) No criminals are looked down upon in the society.
(¢) Some crooked people take bribes.

{d) Some crooked people are not criminals.

(e) Some crooked people are criminals.

(f)  Taking bribe is a crime.

Answer options :

1) ® ®) (D (2) (&) (d) (e 3) (B (e) (d) 4 @ () (€

e RTHTETS! WO /SPACE FOR ROUGH WORK
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21. SISO
forear e/t
() @I (i ~HRTE
(by « TS (i) =
(c) IR (iif) =THR
dy e (iv) Wiz®

@ G (o (@
1 O @ @ @)
2) @) vy @) @
(@) @ ® @) ()
4 Gv) @) @ @)
Match the following :

Districts Caves
(a) Latur (i) Pargao
(b) Beed (i) Kharosa
(c) Chandrapur (iii) Chambhar
(d) Nashik (iv) Bhandak

(@ () () (d)
Q) @ @) @ )
@) @) () @) @)
@ @ @ @) G
@) ) @) @ @

22, 2011 ITVHTHR GIS@aH! Hivial feae Smaegar Bomeds el ?
(1) Hqee (2) feyg (3) L (4) T

According to 2011 census which of the following districts has shown negative growth of
population ?

(1) Mumbai (2) Sindhudurg (3) Nagpur {4) Nashik

Tl THIHTHTS! T /SPACE FOR ROUGH WORK

P.T.O.
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23. GRS WTHEUS] B/ FIG BEF FAUTA, AHKS, d9q9S THeRad SrpH@E] HH ua

ST FEOT TS T61d 7

(a) Ol IerEATEl SAAEd

(b)  wewn SHEd sl

(c) oTcdd @R A

TgiEt I

(1) (@3 (b) 2) @9 (9 (3) WF () (4) W (b)

Which of the following factors is/are not responsible for low density of population in
districts of Amravati, Akola, Yawatmal ?

(a) Uncertainty of farm yield.
(b)  Existence of nomadic tribes.
{c)  Very high density of forest.
Answer options :

(1) (a) and (b) (2)  (a)and (9 (3)  Only () (4)  Only (b)

24. ARG IS ST G Heid Bieit o8 3a wH o,
(1) =, e, faygd, wnfid
(2) faegd, T, we, e
(3) iy, fHygd, B, TS
(4) TR, wTE, o, fHygd

Arrange the following districts in descending order of their area under coconut
cultivation.

{1} Thane, Raigad, Sindhudurg, Ratnagiri
(2)  Sindhudurg, Ratnagiri, Raigad, Thane
(3) Ratnagiri, Sindhudurg, Thane, Raigad

{(4) Ratnagiri, Raigad, Thane, Sindhudurg

el sRMATEIEl 9 /SPACE FOR ROUGH WORK
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25. SIS o
fus et T
(a) TGS (@) Fea
b) T (i) TG
(c) =& (iii) HAEHT
(d) R (v) T
(@ (b)) (o (d)
(1) @) @O @ )
() (v) (@) (@) ()
Gy ® @ @) (b
@ Gy @ @) ()
Match the following :
Crop Crop category
(a) Rice (i) Nilawa
(b) Wheat (i) Shraddha
(c) Jawar (i) Sonalika
(d) Bajara (iv) Kasturi
(@ @ (9 (d)
(1) G @ @ )
2) vy @) @) ()
@) @ @ (@Gv) (3
@ @ @ (@) (iv)
26. Tit gHG el Ed | [UAEe S 39 el
(1) &l &d () dfea wEE
(3) HERH T @) g T
second school, ‘Mukti’, was established at Kedgaon near Pune.
(1) D.K. Karve's (2) Pandita Ramabai’s
(3) Mahatma Phule’s (4) Ramabai Ranade’s

HoAT HIAHE FT /SPACE FOR ROUGH WORK
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(a) HfEe I Jegog FE FEWH
(b) sifesha feasmion gur
(c) T HEe Swrad 7w Ifem
(dy Tyuew gk diEmE
it 36
1) (&) (), (), (d) (2) (o) (b), (@) (d) (3) (b)(a) (d) () (%) (o) (d) (b))

Arrange the following organizations started by Dr. B.R. Ambedkar in their chronological
order :

{a)  Akhil Bhartiya Scheduled Caste Federation
(b) Bahishkrit Hitkarini Sabha

(c) The Buddhist Society of India

(d) People’s Education Society

Answer options :

1) @ )@ d @) © 0@ @ 6 © @@ @ (/@) b) @

28. S wqlewT ¥ I Qe S0 ST B,
1) s aea (2) Uewuges WAl
(3) v U (4) OFAH femE
Joseph Baptista was a colleague and lawvyer of __ _
(1) Pherozshah Mehta (2) Rahimtuila Sayani
(3) Shankar Sheth (4) Lokmanya Tilak

29. QRIOUH! IV S/ AR TATH e T aRe® w9 ?
(1) < A e (2)  <EE RS anfor wom, o
(3) T TS o A sHeRE (4) = AR et w1, e

Who from among the following put forward the theorv of economic nationalism for the
first time ?

(1} Dadabhai Naoroji alone (2) Dadabhai Naoreoji and M.G. Ranade
(3) M.G. Ranade and R.G. Bhandarkar (4) Dadabhai Naoroji and B.G. Tilak

HEAT HIMTATE AN /SPACE FOR ROUGH WORK
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30, S0 oAl
I AW qag dofte sfuEem S )
(a) 1889 () A FEA
(b) 1904 (i) wad. fa=
(c) 1915 (i) T foeam dew@d
d) 1934 (iv) . USg TEIE

@@ @ (o (d)

1) G @ @ ()

(2) @) Gv) (@) (@)

@ @ G) @) ()

@ ) @) @ 6

Match the following :

Sessions of the Indian National Congress in Mumbai The Presidents

(a) 1889 (i) _ Sir Hemry Cotton

(by 1904 (i) S.P. Sinha

(c) 1915 (ifi) Sir William Wedderburn

(d) 1934 (iv) Dr. Rajendra Prasad
(@ (b) (o) (d)

(1 @y @ @ 3G)

(2) @i (v) @) @)

Gy @ @ @) (v)

4y (v) @) @) @

31. TEOiH! RV TRAGEHIGR FErE AAed A 38 Eed aren Afas qAafdeen
HIYFHER 7ATET Haw! et ?
(1) 4430 (2) 42=n (3) 24 4) 267

Which one of the following amendments curtailed the power of Judicial review of the
Supreme Court and High Court ?

(1) 44th (2) 42nd (3) 24th (4) 26tk

FHoedT HTHEIE! AP /SPACE FOR ROUGH WORK
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32, USHINTY SHEIR] M SEGTF AT HIF (FRBM) A4 € 6 89

(a) SHFEEE THUEE W

(b)  3TeR O AT

(c) a1 HUA HET W

T I
(1) (@) &R (2) (a) 9 (b) ®H
(3) (b) A (c) wH 4) =owd

The Fiscal Responsibility and Budget Management Act (FRBM) aims at :
(a) long term macroeconomic stability

{b) prudential debt. management

{c) reduced rates of service tax

Answer options :

(1) (a) only (2) (a)and (b) only

(3) (b} and (c) only (4) Al of the above

33. WO HEl Jearsd TureET W@ T sfusr TwEt?
(1) Tatgs wgwren faarnd wg da.
(2) Toum T aEra W
(3) Taum F¥R T E- IR Frgad w3l
(4) FCHTATNS HEARAS 430 HESAH ULTAHS ad Fge Tafaur.
Which of the following is not a Discretionary power of the state Governor ?
(1}  Reserving a bill for the consideration of the President
(2) Dissolving the Vidhan Sabha
(3) Nominating an Anglo-Indian to the Vidhan Sabha

(4) Reporting to the President with regard to the break down of Constitution Machinery
in the state.

ST HIHETST ST /SPACE FOR ROUGH WORK
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34.  weq ufyde fafew wiadies, =ie SR gidkds st drdm geaqmre S afafet 2w 2
(1) 290-fafzer 9Ra, 6-9% HHYE Gia, 93-HNAF HeaH
(2)  292-fafaw 9Rd, 4-91% FEWER Yid, 93-HIGET HEUH
(3) 296-Tafesl 9, 4-=% HIARHAT Wid, 89-9dE HeaM
(4) 29¢6-fsfew vME, 6-<% HIHTAR wq, 87-urd §eIm

How many representatives were there from British India, Chief Commissioner’s Provinces
and Indian states, in the Constituent Assembly ?

(1}  290-British India, 6-Chief Commissioner’s Provinces, 93-Indian States
{2) 292-British India, 4-Chief Commissioner’s Provinces, 93-Indian States
(3)  296-British India, 4-Chief Commissioner’s Provinces, 89-Indian States

(4)  296-British India, 6-Chief Commissioner’s Provinces, 87-Indian States

35, THIE TReA! a1 H9-T59 S s1ed Hivrd 9iadl snfon $an deiyig o1 2

(a) .= weid (b) &N M

(c) TS MeERt wiFdt (d) ETRRE ST
Tt I

(1) ™ (a), (b), () (2) W (a), (b), (d)
(3) ®H (a), (), (d) (4)  ®H (b), (o), (d)

Which Committees and Commissions are related to the reorganisation of the states or
Union-State relations ?

(a) JVP Committee (b) Dar Commission

{c) Rajgopalachari Committee (d) Sarkaria Commission
Answer options :

(1) Only {a), (b, (¢} (2} Only (a), (b), (d)

(3)  Only (a), (), (d) (4)  Only (b), (¢), (d)

oAl HTEST FT /SPACE FOR ROUGH WORK
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TRt HIUE fauE e TR ?

(a) OgF Hehme it fol 3% v,

(b) TFUS fTamed Bragaydry @l v [T FEd 3R

(c) TIEwgF fHaT FFEAST WHE Ha9] T8oel YHIIHY U FdT AR e,

(d) TR FHIRN AR T fhan T a1 FvarE G 9os 68 T emgEd

Y AR BT AR e,
i AT
(1) (a) FH (2)  (a) AW (c) 3y  (b) i (d) (4) d faum eme

Which of the following statements are not true ?

{a) Lokayukta can pass final order like court of Law.

{(b) Lokpal Bill has tremendous potential to root out corruption.

(c) Lokpal or Lokayukta shall not investigate any matter pertaining to foreign relations.

(d) Lokayukta can not entertain any complaint where complainant has alternative
remedy in any court or tribunal.

Answer options :

(1) (a) only (2) (a) and (c} (3) (b) and (d) (4) All are untrue

oAl HTATATS! AT /SPACE FOR ROUGH WORK
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‘TeETe) IOl ARSI qo’ Ao WS STt SrEaR A @il %

(a) ‘ST GRITER F2fad Jong =" () oA oEke
(b) *'e1-mreArE nfor e (i) FI. TR
(©) '@ TiiE T ¥ TRATS 9o 9 T8 @ (ili) AT

FHATHRR! T FAfFoarEr 3R
(d) ‘T Tl RS e o faume gEA. (v) kel TE
T I

(@ (b () (d)

1) @ @) @) @

2 @ @ @ )

@) G v) @ ()

4) (v) @ Gy (i)

Match the comments on the ‘Directive Principles of State Policy” with their authors :
(a) “A cheque payable by the bank at its convenience” (i)  Allen Gledhill
(b) “Non-justiciable and abstract” (i) K.T. Shah

(c) “Underlying spirit is to make India not a Police (iii} Anantnarayan
state but a welfare state”

(d) “Affirmative instructions to the Government (iv) K.V. Rao
to do certain other things”

Answer opfions :

(a) (b} (0 (d)
M G @ Gv) @
2 @ G aG@) G
@) @i Gv) () (i)
4 @) @ @@ i)

o] T gewign faore Ffue gevg stfumrime guifae Fivgw e ?
(1) 84 &t 5 goxdl (2) 85 ot " gEE
(3) 86 & T gEl (4) 87 weAT gEE

By which constitutional amendment, the Right to Education is incorporated as a
fundamental right ?

(1) 84t Constitutional Amendment (2) 85™ Constitutional Amendment
(3) 86 Constitutional Amendment (4) 87t Constitutional Amendment

THEAT RIS, ST /SPACE FOR ROUGH WORK
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(a) STl IR T 1 STHa 1996 & T4 T,
(b) I HEATTH W Hegd] WY daF e 96T A

I 39
(1) (a) ®E FHI TR, (2)  (b) = T AT
(3) (a)F (b) TEE T TR (4) (a) @ (b) TRIE gF A

(a) World Trade Organization (WTQO) was established on 1st January 1996.

(b) India was not a founder member but became a member a little later.

Answer options :

(1) (a) only is correct. (2)  (b) only is correct.
(3} both {a) and (b) are correct. (4)  both (a) and (b) are incorrect.
40, 'WER SR W AT (SAGY) SR = o Tt 11 Fa=rer, 2014 Ui
I AT
(1) weA Hig Wi (2) U THAEA WA
(3) T YT AR (4) TR T
The ‘Sansad Adarsh Gram Yojna’ (SAGY) was launched on 11" October, 2014 on the
birth anniversary of .
(1) Madan Mohan Malviya {2} Raja Ram Mohan Roy
(3) Jai Prakash Narayan (4) Vallabhbhai Patel
41, GTESTH RO AT AMfEd=m dAfawn Afafrm 2005 @0 AR

el RIHMATE 9 /SPACE FOR ROUGH WORK

(a) a5

(b) HEE TEE GOT q@

(c) HH T 99 Hem

it I

(1) 9 (a) () (@) () (@) )@  (4) FOER
The Right to Information Act, 2005 is applicable to which of the following organisations

(a) Intelligence Bureau

(b}  Central Reserve Police Force

{c} Border Road Development Board

Answer options : '

(1) Only (a) (2} (a) and (0) (3) (a), (Myand {c) (4) Tonone
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12. Yo faum aE 9rg wEiEE Fee S

(a) TR THRIVA BION=A1 HIHE Tefear STATOHTER 2000 9 2011 e Hfonidr arbae
24% A GBS TR

(b) =T Hfeowi=t e 91 ¥ 1991 F 2001 =1 29% EIET FH AOSG IFHA T (2001-11)
q YRR TR WUEY 18% el Sed aTe.,

() IUTSH SEHEITRTIN Hedd e Red Shde THE a8 @ Iuuee 98 e
waidt I :

(1) W () (2) W (a) S (b)

(3) T (b) AT (c) (4) W (a) ST (c)

Consider the following statements and select the correct answer from the codes below :

(a) The latest census data on the population of religious groups, set to be released shortly
shows a 24% rise in Muslim population between 2001 and 2011.

(b} While the growth rate of Muslim population has slowed down from around 29%
between 1991 and 2001, it is still higher than the national average of 18% for the
decade (2001-11).

(c) The data showed the most rapid rise in the share of Muslims in the total population
was witnessed in Uttarakhand.

Answer options :
(1)  Only (a) (2} Only (a) and (b)
(3)  Only (b) and (c} (4) Only (a) and (c)

43. wfgaren sfaer sfgfam, 2005 TR Sdm wfed  smEmE weed wiFwar Sl o Tawm
HeAE A% AR R G AEGars SRR STHaT.

& 3R,
(1y = (2) I%
(3) oTT: SIS T TVE: TH (4) I Siehd &

As per Right to Information Act, 2005, the Central Information Commission have the
powers of a sessions court under the Criminal Procedure Code while making judicial
inquiry into any matter. '

This statement is
(1) correct (2) wrong

(3) partly correct and partly wrong (4) can’t say

HeAT HHHE T /SPACE FOR ROUGH WORK
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44.

26 | A
wdlea =mamean Aifedisn st = (Interpretation) @GS HIUE FFOT He
e ?

(1) S wooaR &6, gRET THIE SIS

(2) druew g wR fafes feafdq anfn af.smum. 5, g5, fe

(3) T afae AR i fa. e gewn smgaa o1, sfear anfor ef s uE, 2009
(4) YEufHTES fa. MeEthe % HeR T 37T W, 2007.

In which of the following cases has the Supreme Court interpreted the meaning of Right
to Information ?

(1) Vaishali Katchhavah Vs. Dwaraka Prasad Jaiswal
(2) People’s Union for Civil Liberties and Ors Vs. U.O.1
(3) Dr. Arvind Kumar Sharma Vs. Chief Dakshta Ayukta, UOI and Ors 2009

(4) Surup Sing Naik Vs. Govt. of Maharashtra and Ors, 2007.

45. o sElT=N HA SR UTHIY YRS SAERT Ue SIS Heq VIed A9 T 1 ST Qe
AR &Y AFa A
(1y 2400 (2) 2100 (3) 2200 (4) 2300
According to the Planning Commission, a person from the rural area is regarded as a
poor person if he is unable to get of energy.
(1) 2400 (2) 2100 (3) 2200 (4) 2300

46. Tome frdt 9= se@d/AF o1 VIS 1A BoEE 7

1) @ie¥ 2 fr¥E (3) de fagy (4) «zwE
The number of times the signal changes/second is called __

(1) Baud rate (2) Bit rate (3) Band width {4) Band speed

HoE TS AW /SPACE FOR ROUGH WORK
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47, SR faagdt 9 gaoit feni~a 9 8 Sguaar=n dichio HHIHoH Heid HT-ad Qv
WIEGTET I @ TE H Hd 7

(1) faisRaA-(3) (2) TAHLIIARIL
(3) FEHZARA. (4) STAEE.

is a nodal agency for co-ordination of all efforts of Cyber Security emergency
response and crisis management.

(1) CERT-IN (2) NCERT
(3) ICERT (4) ICE
48. wiuth® 2oy F3R GgkE oSt S o W9 uigey T8 AT,
(1) W wmedi 2) 3%
(3) V-tew (4) vl

Portable model of primary health care delivery developed by media lab Asia is
(1) Sehat Saathi (2) E-health

(3) V-health (4) Dhanwanthari

49, 9 SHARI 2015 O WiSiStwt HoE Waey FaEldd 2 ?
(1) 103.75 0 &9 800 AW B 9 Hed  (2)  108.83 B g1 700 B €0 5 LA
(3) 105.78 B TH 650 A & 9 WEA  (4)  91.08 WY B 1800 W B Hg Wed

On 9t January 2015 spectrum put to auction :
(1) 103.75 mHz in 800 mHz band (2) 108.88 mHz in 700 mHz band

(3) 105.78 mHz in 650 mHz band (4) 91.08 mHz to 1800 mHz band

FHeAT UG AT /SPACE FOR ROUGH WORK
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]

(1) 200 2) 225 (3) 235 (4) 242

How many rectangles are there in the above figure ?

]
1
| A
(1) 200 ) 225 (3) 235 @) 242

51. W@iOOUH! HIvEl .93 7O o% R, e Y9Te WK ?

(1) 127.0.00/8  (2) 172.16.0.0 (3) 192.0.0.0 4) 196.0.0.0

From amongst the following what is a loop bank address of the local host :

(1) 127.0.00/8  (2) 172.16.0.0 (3) 192.0.0.0 (4) 196.0.0.0
52. wRAMHl gerie widw foRyr waw frm 3 ATEH gE Ha.

1) 15 S 1995 (2) 14 57 1985

(3) 16 AT 1984 (4) 18 AT 1995

Internet services were launched in India on by Videsh Sanchar Nigam Ltd.

(1)  15% August 1995 (2)  14th June 1985
(3) 16t August 1984 (4) 18t August 1995

THoAT HIHTHS W /SPACE FOR ROUGH WORK
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o fasio S=ityE g SR U AT IS HWed Jeie R m TR Fvas ®m
Fo a9 7M.

(1) " (GAGAN) (2) ST TH. (GPS GAN)

(3) M. SULUH. (GAN GPS) (4) TR W.UH. AL (RGPSRO)

The project where ISRO is jointly working on navigation system with the Airport Authority
of India is known as )

(1) GAGAN (2) GPSGAN
(3) GAN GPS (4) RGPSRO
WIATEiEH! HIvH T didt 3R ?
1 2 4 7
L 3 2 5 3 3 S

From amongst the following which number is the biggest ?

1 2 4 7

(1) @ 37 G 3 4 13

fa. oM wu.gl. oS w9 ?

(1) e fegaut e Fw () i e He Heg

(3) HIT TN W FH (4) FIT FEHH YT KT

The term CISC stands for

(1) Computer instruction set complex (2) Complex instruction set computer
(3) Code instruction set computer (4) Code instruction set complex

T e qefararanet swdtai=n ifts st aiwsfas T gur ® ik C i
e

(1) F%E - met yiomeE (2) e i

(3) & - el wiemIH (4) e i

To raise the material as well as cultural level of the Indian masses so as to provide a basic
standard of life is referred to as :

(1} Nehru Gandhi Model (2) Gandhian Model
(3) Neo - Gandhian Model (4) Marxis Model

ot RTAETE Fh / SPACE FOR ROUGH WORK
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57. SIS @&

e Fafifedt famen
(a) feyg (@) 16 s 1982
(b) W (i) 01 % 1999
(c) avm (i) 01 # 1981
(dy e (iv) 01 9% 1998

@@ () (9 (d)
1) @ @ @) ()
2 (v @) @ @
(3) (@) @ @Gv) (i)
4y @) @(v) @ @
Match the following :
District Formation date

(a) Sindhudurg i) 16 August 1982

(b) Latur (i) 01 May 1999
{¢) Washim (iii) 01 May 1981
(d) Gondiya (iv) 01 July 1998

@ () (© (@
1 @ @ @) @)
(2) () @) @) ()
@) @) @ @) G
4 @) @) @ o

oot HIWEE WRT /SPACE FOR ROUGH WORK
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58, WE@T! HIo A9 FRd A8 7

(a) TR FT B Fg GIHIHGT AR AR,

(b) T 1990 - 91 97 HEHEH FU= T THEHA A e,

T L
1) (a) T (2)  (b) ®H
(3) (o) ¥ (b) T 4) (a)F (b) =T ARG

Which of the following statements is incorrect ?

(a) Corporation tax is levied by the Central Government.

(b}  The rates of corporate tax have gradually increased since 1990 - 91.
Answer options :

(1) (@) only (2)  (b) only

(3) Both (a} and (b) (4)  Neither (a) nor (b)

59. TEI® oM Ul &V faum @ng o1g ?
(a) WUTHH! S AeHiEA [0 g AfuTarend SR AE WaTd sTie qarme gim
RIS
(b)  oTIfeie UR Q9 AT Tewd] ARl Bl : Biaes anfede feerietor o gea-rea gumon
Tgier 3w ;

1) F9= (a) (@) w2 (b) (3) TR (@A) (4) HORE T
Which one of the following two statements is correct ?

(a) Under Dr. Manmohan Singh as the Prime Minister, the process of economic reforms
was initiated in India.

(b) The Economic Reforms consisted of two distinct strands : macroeconomic stabilisation
and structural reforms.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4)  Neither

oA HIATEIE T /SPACE FOR ROUGH WORK
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60. TE LA GO oA (NSSO) A SRS @e® Heheu fasfad Heon amea

(a) @M frudt (by =g e feerd
(c) ey il feerdt (d) e aTfeie Feerdt
T Iy

(1) (b), () 70T (d) ekl (2)  (b) ST () B
(3)  (a), (b 70T (c) ek (4) wEetE W

The National Sample Survey Organization (NS50) has developed the following concepts
regarding unemployment :

(a} Usual status (by Current weekly status
(c) Current daily status (d} Current yearly status
Answer options :

(1) (b, (c) and (d) only (2)  (b) and (c) only

(3} (a), (b) and (c) only (4) All of the above

61, WIHIHI VA G HRAMG SFAGYEH HL HEHAE T937™ A4 9 fHesqumy Higr A
il 2
(1) 1990 - 91 (2) 1992 -93 (3) 1993 - 94 (4) 1994 - 95

In which year did the customs duty become an important source contributing to almost
half of tax revenue in India ?

(1) 1990 - 91 () 1992 - 93 (3) 1993 - 94 (4)  199% - 95

62. EATEAT HIEHWH UM TAHITT dIoqhga T W

(a) FFa Ef (b) wr=2 aufor g

(c) Twlas (@) T

it I

(1) (a) = (b) % (2} (o) 3 (d)

(3) oo wd (4) ST THET AR
These are the sovereign credit rating agencies rating India’s sovereign debts.
(a) Fitch Ratings (b) Standard and Peor’s

(c) CRISIL (d) ICRA

Answer options :

(1) (a) and (b) only (2} (c) and (d) only
(3)  All of the above (4) None of the above

THeeAT THIATETS S /SPACE FOR ROUGH WORK
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63. VIS 303 ST SUNTVATT 1950 =41 S9TRid TR Hose e fasmmarr gy

379 TR,

(1) o= A (ARA) (2) W FsT (3) TEE dre (4) T AL

During 1950s, eight leading industrialists of India conceived “a’ plan of Economic
Development which was popularly known as :

{1} Bombay Plan (2) Gandhian Plan (3) Nehruvian Plan (4) Five Year Plan

64. HAT=H UfEeal B TN HNFHE S 99T SR RS 71 U e MHee
(1) 9 3 Haiad HeEs & (2) s
@) fE=m (4) TEqH S0 TBUERY

Under the first two five year plans in India, the highest allocation going to a single sector
was :

(1) Agriculture and Allied activities (2) Power

3 Irrigation 4 Transport and Communication
824 P

65. U@ T fAumid®h! SV T 3178 ?
(a) TERiTe e B T T i e afiee e TaaiiE ded A,
(b) UM 9 U T fRwma gand ovf FUEe § Ien daeafiE 9 2fiEe R,
i I
(1) e (a) (2) = (b) (3) < (4) T AR

Which one of the following two statements is correct ?

(@) The 10t Five Year Plan had the objective of connecting all villages with all weather
roads.

(b) The 122 F.Y.P has the objective of upgrading National and State Highways to a
minimum two lane standard.

Answer options :

(1) Only (a) (2)  Only (b) (3) Both (4) Neither

o=l hRTHTEIGT AT /SPACE FOR ROUGH WORK
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66. YEI® I faurits! FIvr ST aTe ?
(a) e = TANIEEiE o BIUIE USd AT FET agTIEl THdrd S S ST,
(b) Tl HEAY g 9 TE AR = U (oY w1,
Tt I
(1) 9% () (2) w9 (b) (3) TR (@A) (4) FIWE L
Which of the following two statements is correct :

(a) The guiding principle of the GATT is to discourage bilateralism and encourage
multilateralism.

(b) GATT prohibits custom union and free trade area completely.
Answer options :

(1) Only (a) (2)  Only (b) (3) Both (a) and (b) (4) Neither

67. SANIdAIELOT & HY WihaT 78 S9d

(a) oTfef® tHiwm TEo B (b)  aTIfee qF9OT AR BIal.

(c) oTf¥® @id= JEH and. (d) fafta yarg fosaramn.

T I

(1) e T (2) (@), (b) % (c) T

(3)  (b), (c) T (d) (4)  (a), (b) T (d) TR

Globalization is a process of :

(a) Deepening economic integration. (b) Increasing economic openness.
() Growing economic independence (d) Expanding financial flows

Answer options :
(1) Al of the above (2) (@), (b) and {c) only

(3) (b}, {c) and (d) only (4) (a), (b) and (d) only

THeed] U 9P /SPACE FOR ROUGH WORK
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68.

Wﬁﬁﬁﬁw:
H -

(a) U= 39 A9 - PIN
(b) @2 H@ "t - QMS
(c) ¥ Ture Ham - SPS
Tty 3T

(a) () (9
(1) Gw) @) @
(2) ) B D)
@) @ )
4 @ () ()
Match the pairs :

Gr-A
(a) Postal Index Number - PIN
(b) Quick Mail Service - QMS
(¢) Speed Post Service - 5PS
Answer options :
(a) (b) (o)
(i) @ ()
) @) )
. i)

(

[

-

[

o

[

iif)
i)

et

35

q-Te
@iy 1975
(i) 1986
(i) 1972

Gr-B
(1) 1975
(ity 1986
(iiiy 1972

BO6

69.

ARrEr YeEifiE dem sfatd s e S Rt e fedt caEET S woae g

R ?

(a}) 8 (b)y 10
Tt I

1) (@ 2) (@)

(<)

(3)

The 12" Five Year Plan envisages to reduce the head count ratio of consumption poverty

by what percentage points ?

(a) 8 (by 10
Answer options :
(1) (d) 2 @

THoAT HIUTETSI | /SPACE FOR ROUGH WORK

P.T.O.



HO6 36 A

70. 2015 - 2020 =1 fa€9 S9N RO 31 AT GF FodT T
(a) WHSES UHRNEH WH sreal f=Fn
(b) HiFEY waEdeE win sfem femm

T I
(1) (a) ¥ (b) T == 3R (2) (a) HF TN IR,
(3)  (b) B TS AR (@) (a)F (b) T TH A

Foreign trade policy 2015 - 2020 introduced :

(a) Merchandise Exports from India Scheme (MEIS)

(b) Services Exports from India Scheme (SEIS)

Answer options :

(1) Both (a) and (b} are correct (2) (a) only is correct

(3)  (b) only is correct (4} Both (a) and (b) are incorrect

71. G 2011 99 ARGl SUGSHT TSt TeAiE HEe wHH Higv .
(a) W S (b) TEWRE () fem=e W
it 39T
1) @) O () 2 (© 0T (@) @) @) M@ @) (b) @ T

Arrange the following states in descending order with respect to literacy rate in the year
2011 :

(a) West Bengal (b) Maharashtra {¢) Himachal Pradesh
Answer options :

1) @ ®ad(© ) () (band(@ (3 () (and@ @) () (@) and (o)

72. UE(® 9F Gt HivR faum gy s ?
(a) VIS T WESR AeHa I 9 Sy WU H2ed g,
(b) Syt T ISR AT oI e F g SUEEET U ST
qaidt 34T
(1) R (@) () wH (b) () WTR@AP) (4 FoWE
Which of the following two Statements is correct ?

(a} Swaranjyanti Gram Swarojzgar Yojana has cash and food grain components.

(b) Sampoorna Grameen Rozgar Yojna has bank credit and government subsidy
- components.

Answer options :
(1) Only {a) (2)  Only (b) (3) Both (a) and (b) (4} Neither

HosAl HIHEIE 9T /SPACE FOR ROUGH WORK
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73, U Y AEvarE qard ey 9 9 g ¢

(a) HUH FFS AT IS THT

(b) TaT=a TR

(¢) & I TUATE! FHHAHA I~ qrded]

(d) O aeradE! Had S WA

i I

1 ®) 2 (@ (3) @) 4) (9

The easiest way to find out a tax burden is :

(a) Tax to GDP ratio

(b) Highest rate of tax

(c) Minimum income slab to which a tax becomes applicable

(d) Maximum Income exemption limit

Answer options :

1) (b 2 (@ (3) (d) 4 (©
74, IHUA VaAlNS dn e fimw . ¥ EN.

(1) Siog i ggi=n i

() R It s EwEEeTE gEEe

(3) e, Afus gHAETE i wyaa fawmmhe

(4) TR T T

The approach to the 11" plan document was entitled as
1) Towards Faster Economic Growth

2) Towards Faster and more Inclusive Growth

(
(
(3) Towards Faster more Inclusive and Sustainable Growth
(

4)  None of the above

el RIATETS WA /SPACE FOR ROUGH WORK
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75. oo =R vemaEEme | Tam Sy € A A qeesl 9
(a) AfaA/Hwea FrafagR ==fau.
(b) H&H, ALEH FUEE IRATS 8 YR ffddtde amis agd o S,
TiEt 3 ;
(1) (a) T30 SR 3R, (2)  (b) R FEA .
(3)  (a) T (b) Tl FE AR (4) (2) @ (b) ST & AL
“Niryat Bandhu” Scheme is implemented by DGFT for :

(a} Mentoring New/potential exporters.

(b) Considering strategic significance of SMEs in manufacturing and Employment
Generation.

Answer options :
(1) {(a) only is correct (2) (b} only is correct
(3} Both (a) and (b) are correct (4) Both {a) and (b} are incorrect

76. THE A 0T 2009 - 14 THR S0 qiEd0] Sqa@] I AW ¥odh 41 Esrwg
TS ?

(1) &l 9 9& ImeA (2) vt 9 i e

(3) ToRMH 9 qEHE T (4) FGUET RITAE TE

For which Capital goods Foreign Trade Policy 2009 - 14 has allowed zero duty import ?
(1) Agriculture and allied products (2) Engineering and Electronics products
(3} Electronic and Chemical products (4) None of the above

77. YEI® TF fagmics! S dre g ?
(a) YR FINEE TR O AW FHAT SIS e Hdie T qwE Sl
(b) AT ZFE 2T 2V 9 fadei srieTel arETes ang.
gt 3y
(1) e (a) (2) HEH (b) (3) T (@)F(b)  (4) HIvaE TR
Which of the following two statements is correct ?

{a) The companies have to pay Corporation Tax whether they earn profit or not.

(b)  The rates of Corporation Tax are different for domestic companies and for foreign
companies,

Answer options :
(1) Only (a) {2}  Only (b) (3) Both (a) and (b) (4} Neither

FHeeET HIATETS! WA /SPACE FOR ROUGH WORK



A 39 HO6
78. Woe ArENTE TRt SavaE SEifiTRtor Wi SRR SEaSe AT TqeavEhia]
R i T o
(1) Tt Sfam (2) & - WH gfdHE
(3) TEEATad yiand (4) v yfoam
The strategy emphasised investment in heavy industries to achieve industrialization which
was assumed to be the basic condition for rapid economic development is known as :
(1) Gandhinan Model (2) Neo - Gandhian Model
(3) Mahalnobis Model (4) Marxian Model
79. (a) 9% TRl Yoaveen yeaE foE Se e 99 e,
(b) e fadsft Tague=n weaEs Rfwd JaauF Tded 8 (FIPB) Tl 3a oTHR.
gt 39
(1) (a) 200 (b) = == A (2) (a) FEE S IR
(3)  (b) e WU 2T, (4)  (a) M0 (b) LTEY & .
(a) Foreign Direct Investment (FDI) proposals are approved by the RBL
(b)  Foreign Direct Investment {FDI) proposals are approved by the Foreign Investment
Promotion Board (FIPB).
Answer options :
(1) Both {a) and (b) are correct (2) (a) only is correct
{3) (b) only is correct (4) Dboth (a) and (b) are incorrect
80. WNAT=AT Ufged YN IS HIel SMIRASINS TR e fahdl gt ?
(1) T 5306 (2) T536.6FHE (3 TH5419®E  (4) T 5521 Wi
What was the overall deficit in the balance of trade during the First Five Year Plan in
India ?
(1) T 5306 crores (2) T 536.6 crores (3} T 5419 crores (4) ¥ 552.1 crores
81. Hd foan s =g Udfae S,

(1) e 9T e

(2) T=9 HT T

(3) % STV T WA SRR

(4) USSR A=

Sarva Shiksha Abhiyan is implemented by :
(1) Central Government only

(2) State Government only

{3) Both Central and State Governments
(4} None of these

THoAT H/ATETS AT /SPACE FOR ROUGH WORK

P.T.O.



HO6 40 A

82. 2009 - 10 7¥4 HEHS T2 UHU W@ WL IAEAAT (GDP) AN fohefl 2o 2 ?
(1) 3.2% (2) 4.2% (3) 5.2% 4) 6.2%
In 2009 - 10 what was roughly the proportion of Revenue deficit to GDP in India ?
{1y 3.2% (2) 4.2% (3} 5.2% (4) 6.2%

83. @Il GHEIH ATorToAl od SehTleAl Waai e A3 HiY &= T 3094 X I
FoTdd dGal?

(2) 2.0% d4.0% (b) 3.7% d 4.5%

() 57% d 8% (d) FSURT Feo@! Er

T 3wy

1 (© 2 @ 3 () 4 (b

The Agricultural GDP growth rate accelerated in the 11" plan from its average rate in the
10t plan from :

(@) 2.0% to 4.0% (b) 3.7% to 4.5%
{¢) 5.7% to 8% (d) Nore of the above

Answer options :

1) () @) (d) 3) (@ 4) (b

84. TEIT HAHl = A WS TV SeAIEHIAIG [GIRATeH] THFRaRIJaN 92l HHM HIgul .
(a) Ff (b) eI CRNCEL
atdt s
(1) (@) (), ST () (2) (b)) AT @) (3) (c) (b) A T(@) (4) (b), (@) ()
Arxrange the sectors in descending order of their percentage share in real GDP.
(a} Agriculture (b) Industry (c) Services

Answer options :

(1) @ G and @ ) GO, @and@ (@) © G)and(@ @ (b), @ and (©
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85. T.H. 2000 - 10 &1 FTe@EHd WA 4 G [adaueh i G@oie Sendl Jae WSl
HHAN TEL W Sed, T, 9N, 9.9, 40T

(1) affwm, IR, 3.9, 3980 (2) HIRE™, AT, IR, 4%,
(3) Hife, R, .09, 3% (4 TREM, .., TR, g.oH.T

Rank the countries in descending order in terms of the Foreign Direct Investment India
received from them over the period 2000 - 10, countries : Mauritius, Singapore, U.K. and

US.A.
(1} Mauritius, Singapore, UK, US.A. (2) Mauritius, U.5.A, Singapore, UK.
(3) Mauritius, Singapore, US.A, UK. (4) Mauritius, UK, Singapore, US.A.

86. TEra faurrar famm &,
(a) 1951 U= Hiah@ SHaRREN
(b) ST 1966 HHl® T0A SFTHTET
Tt Y
(1) ()@ (b) I 3.
(2) (a) 3 (b) T 3T (a) T (b) ¥ FTEI AT FRT .
(3) (a)d (b) T FHT (a) T (b)H HRUT Tegd.
(4) (a) A (b) THUHT HATYT TR
Consider the following statements.
(a) Adverse Balance of payments since 1951.
(b) Devaluation of rupee in June, 1966.

Answer options :

(a) and (b} are incorrect.

)

2)  (a) and (b) are correct, (a) was partly responsible for (b).
) (a) and (b} are correct but {(a) was not the reason for (b).
)

Both (a) and (b) are unrelated.
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87. AL HEYS AT HAMEY B

(a) =S AT (b)  BIV F TH (c) ¥IEH

gt 3=

(1) (a) &K (2)  (a)F (b) ®Hd

(B) (@ () T (4) e

Non - Tax revenue consists of :

(a) Interest Receipts (b)  Dividends and Profits (c) Grants -in - aid
Answer options :

(1} (a) only (2) (a) and (b) only

(3) (a) and (¢} only (4) All of the above

88. (a) TG UMM A WEH (NRHM) 2015 79 g€ FIIE TS
(b) NRHM 97 & 3T 3701 f2ef HCAT0] HARHAT sisshel 20 8T 4T,
T S
(1) (a) o T AR, (2)  (b) e ST .
(3) () 3T (b) EEE AU HRA,  (4) () S (b) TR IF A
(a} National Rural Health Mission (NRHM) was launched in 2015.
(b) NRHM aimed at strengthening health and family welfare programmes.
Answer options :

(1) (a) only is correct (2)  (b) only is correct
(3) Both (a) and (b) are correct (4) Both (a) and (b) are incorrect

89. (a) IS 30 T HegS AISER WH AR
(b) AN S ITHAM EOS Ful © WigTS! AN TH IR,

W’fﬁ L
(1) (a) K ST IR, (2)  (b) B TR R,
(3)  (a) @ (b) TFEN FUST AR (4) (a) ¥ (b) TFE! TH e

{(a) Interest payment is non-plan revenue expenditure.

(b)  Loans to public enterprises is a plan capital expenditure.

Answer options :

(1) (a) only is correct (2) (b} only is correct

(3) DBoth (2) and (b) are correct (4) Both (a) and (b) are incorrect
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43 HO6
e 3 FE I fau T o ?
(a) YA T9AT STaedy, I IiEdtadse YH TS Bid.
(b) WA = EraERS qof aitefraar 19 #TER, 1995 St i,
Tt I
(1) F9 (2) @ ¥ () (3) (4) o TR
Which one of the following two statements is correct ?
(a) Devaluation of Indian rupee was a first step towards full convertibility.
(b) India achieved full convertibility on current account on August 19, 1995.

Answer options :

(1) Only (a) 2) Only (b) (3) Both (4) Neither

91.

W e Hewi § faum v ome.

(@) Y@ ARIHE AR e dewE a6 A

(b)  STYX &I STred 3TFOT YRS [T 31 WA Yoo FHAT HUEl SRr.
T I

(1) (2) ST (b) EFET TUSR 3. (2)  (a) ST (b) A=Y I .
(3) (a) T WU . (4) (b) FII ST .

What is true regarding Indian Railways ?

(a) Market share of rail transport has marginally risen.

(b) Railways face the problems of inadequate capacity network and infrastructure.
Answer options :

(1) Both (a) and (b) are correct (2) Both (a) and (b) are incorrect

(3) (a) only is correct (4) (b) only is correct
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92. VRAWH To4 U= HI0edl CERATaR fashisd farsrer gEam gre [ dier T swvarst
TAEEHR A0 ATFHRR da=di oA S ?

(1) e | (2)  sATETRrE
(3) SrawEawEr (4) SAEOUE @ SRATETUE!

Which Constitutional Amendment begins the new era of decentralized planning in India
and has given powers and responsibilities to Panchayats for preparation of development

plans ?
(1) 64th (2) 73w

i

(3) 74th (4) 7314 and 74th

93. FIcdl fau NN %uH= s a7 F31 1 g THRA THY Teqa! ST 58 THRAT
fem sy T 37.5% <aaiadas g Fer sar ?

(a) 10 7@ fam AR (b) 11737 faa M

() 1274 fag smEm (d) 1331 faa amm

gt 39

1) (b - (@) (9 3) () 4) (©

Which Finance Comnrmission for the 15t time recommended a ceiling on all revenue account
transfers from the Centre to the States at 37.5% of Centres gross tax revenue receipts ?

(a) 10" Finance Commission (b} 11'h Finance Commission

(¢} 12*" Finance Commission (d) 13t Finance Commission

Answer options :

(1) (b) (2} (d) 3 @ 4 (©
94. Wa famm fowm® 7 T I TR,

(1) TEE I

(2) =S 309, HUE SHATE AT Fie e

(3) TH SRAle, W Werar S HgE Favey

(4) TUE SRR, We HIERd], S Javey, ST oy o Uy 3cde
Human Development Index (HDI) is based on :

(1)  Per Capita Income

(2) Per Capita Income, Life Expectancy and Adult Literacy.
(3) Life Expectancy, Adult Literacy and Combined Enrolment Ratio.
(4) Life Expectancy, Adult Literacy, Combined Enrolment ratio, and Per Capita Real

GDP.
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95. (a) @G IO HTEGA HEE] (FEMA) = 9 Wahg =od Fa97 S (FERA) 7 Hadl.
(b) AT FHTEITE G TWHE ToA TS HIFE ABHHL0T HL ¢ B,
(c) T FrEET RS § TR T TR THANR AR T E A
T I
(1) =@ (a), (b), S () T AR, (2)  (b) A (c) o e ATA.
(3)  (b) SV (a) FF R e, (4) = (a), (b), MV () THH e
(a) Foreign Exchange Management Act (FEMA) was replaced by the Foreign Exchange
Regulation Act (FERA).
(b) FEMA aimed at consolidating foreign exchange laws.
{c) FEMA aimed at promoting orderly development of foreign exchange market.
Answer options :
(1)  All (a), (b), and (c} are correct  (2) (b) and (c) only are correct
(3) (b) and (a) only are correct (4) All (a), (b}, and (c) are incorrect
96. hITTCH ST A feeseRdieTe S1er 1990 - 91 4 2009 - 10 S0 8% o84 1.9% g1 gl
YU ST 7
(1) Ft =z (2) <HS 9 9HSl IARA
(3) A U (4) wholw! Twe AR
Which industry’s share in export earnings declined steeply from 8% to 1.9% during
1990 - 91 to 2009 - 10 ?
(1) Agriculture Industry (2) Leather and Leather Manufacturers
(3) Chemical Industries (4) None of the above
97. AT v T et b e ST ?

(1) FHF (2) wERTg (3) T (4) T
Which was the first state to initiate decentralization of planning in India ?

(1} Karnataka (2) Maharashtra  (3) Gujarat {4) Rajasthan
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98.

46 A

(a) TR ASHGURI LT Whel T 2Te ol o,

(b) Y ARV AT TAEA 0T GRS =g A= WeliEt e g W v a1,
TRTEAT ATSd A1

watar I

(1) (a) Fo U AR (2)  (b) werd SR TR,

(3) (a) 3T (b) T T T4, (4) (a) 3N (b) S FF R
(a) The role of government was redefined during the Tenth Plan,

(b)  However, the need for ensuring equity and social justice was emphasised during the
Eleventh Plan and not in the Tenth Plan.

Answer options :
(1) {a) only is correct {2) (b} only is correct

(3) Both (a) and (b} are correct (4) Both (a) and (b) are incorrect

93,

dgeet ladren T e s aer SEar 2009 -10 Wt fodl 29 Sade
e a3t 2

(a) 29.8% (b) 27.0% ©) 26.5% d) 28.2%

et 39T

O @ @ (© @ ® @ @

In the year 2009 -10 what percentage of population according to the official estimates of
poverty line based on the Tendulkar Committee poverty line was living below poverty
line ?

(a) 29.8% (b)y 27.0% €) 26.5% (d) 28.2%

Answer options :

(1 (a) 2 (o) (3) (b) 4 (@
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100. (a) 1992 - 93 7Y FR fafmy X =@awd g& 0w e
(b) WA s9ATE St qRaEd e el
et 3
(1) (a) & HROT ST (b) 7T THOIH 3T,
) (b)T =T S (a) T IO .
(3) (a)F (b) ¥ SEE THHHEN S AR
(4) (a) anftr (b) ST e ST =R Hee et 2.
(a) The dual exchange rate system was introduced in 1992 - 93.
(b) India adopted partial covertibility of rupee.
Answer options :
(1) (a)is a policy and (b) is a result.
(2) (b)is a policy and (a) is a result.
(3) Both (a) and (b) are unrelated.
(4) Both (a) and (b) were suggested by the WTO.

-o0o-
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AT — (U2 1 967 q4....)

8) TeIqerRned fafea Foe falime Iri= =1 %0 (W 9%) #E.  yEfEssiaiea Satarahat a1
TR FICEL Fol FY Hedld o FHIU HIOAAT IH H0 376, FH T Tho 9 TR SHeanEt
A S ¢ aiaimed S e wiaey wvEEad sifufm-g2 " Ao seen e
HAE 430 © S STl HUIS Ueh ou=A HIETETET=T S0/ fHeT ¥99 U 79l U= gor= faam
EIERES

(9) HER THIFREE TETH fafed SO 3w HucyHdl UGNl & FEIYa W@ o TR eiaRt
U WU WS AR, HIR GUT HTETEt SvArydl SHEaR ATIedT et ey WeT-1
AUAgETHS A faawaT e w0 SEvas o

. 3. 201.

. . 201,

AT 9
T 9 T FAER! S0 9od: Td H ?
1) EH qur] gl 2) 3vatEs famEr
(3) TSN qEERd W (4) TR e
B T A IO (3) TS UHEET UG’ o AR, e W N I Y(3)" dEe, Il
WIA@TETT 939 . 201 e sR-waw (@) € oo [ smifsd ww @i
TR IR

ONON N0

39N TGAH THgA IYTYRehdle Yedd YEArdT gHEl ITGhHIh @ IRl Wil giace
SATFIIS 1 T THAREEIE daaq age a0 oHiffd &9 sreaEl.  geRieT
e hToedl VTSl Ao aiqid, Ui-Te ot YIg e U9 e =14,
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